# MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	Washer and Dryer furnish & install for the MSDF	DATE POSTED	MC
PURCHASING REPRESENTATIVE	Donna Stevens, PH (941) 749-3045	DATE CONTRACT SHALL BE AWARDED	9/2/2016
DEPARTMENT	Property Management	CONSEQUENCES IF DEFERRED	Inability to dependably clean inmate clothing
SOLICITATION	IFB #16-2590DS MCDF Washer & Dryer Replacement	AUTHORIZED BY DATE	Dennis Wallace, Contract & Buyer Manager August 26, 2016

#### NOTICE OF INTENT TO AWARD

Manatee County intends to award a Purchase Order to Florida Laundry Solutions per the terms, conditions and specifications of IFB 16-2590DS, Manatee County Detention Facility Washer & Dryer Replacement.

### **ENABLING/REGULATING AUTHORITY**

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

## **BACKGROUND/DISCUSSION**

- On July 15, 2016 IFB 16-2590DS for Manatee County Detention Center Washer and Dryer Replacement was issued. There were two (2) addendums issued: August 4 and August 17. On August 23, 2016 five (5) quote responses were received; Aaxon Laundry Systems, Florida Laundry Solutions, Industrial Laundry Services, Southeastern Laundry Equipment Sales, Inc. and Steiner-Atlantic Corporation.
- The bid submitted by Florida Laundry Solutions, as the responsive and responsible bidder with the lowest Total Bid Price for Option #2, is selected for award of the solicitation and will be issued a Purchase Order as per the Bid Price Summary below and the attached Bid Response Tabulation.

Florida Laundry Solutions \$86,000.00
Aaxon Laundry Systems \$86,415.67
Industrial Laundry Serv. \$89,966.00
Southeastern Laundry \$98,050.00
Steiner-Atlantic Corp. \$99,540.00

AMT/FREQ OF
RECURRING COSTS is a singular solicitation.

## **BID RESPONSE TABULATION**

# IFB 16-2590DS, MSDF Washer & Dryer Replacement

LINE#	DESCRIPTION (furnish & install within 160 days)	OPTION 1: UNIT PRICE	OPTION 1: EXTENDED PRICE	OPTION 2: UNIT PRICE	OPTION 2: EXTENDED PRICE
11	1 Each, 80 LB Washer	\$12,394.08	\$12,394.08	A STOR YES	
2	2 Each, 80 LB Washer	\$12,394.08	\$24,788.16		
3	3 Each, 80 LB Washer	\$12,394.08	\$37,182.24		
4	4 Each, 80 LB Washer	\$12,394.08	\$49,576.32	\$12,394.08	\$49,576.32
5	1 Each, Gas Dryer	\$7,367.87	\$7,367.87		
6	2 Each, Gas Dryer	\$7,367.87	\$14,735.74		
7	3 Each, Gas Dryer	\$7,367.87	\$22,103.61		
8	4 Each, Gas Dryer	\$7,367.87	\$29,471.48		
9	5 Each, Gas Dryer	\$7,367.87	\$36,839.35	\$7,367.87	\$36, 839.35
TOTAL BID PRICE FOR AWARD PURPOSES				\$86,415.67	
Speed Queen Washer #SC80		Spee	d Queen Dryer #S		

	Flo	rida Laundry Solu	itions, Bradenton	, FL	
LINE#	DESCRIPTION (furnish & install within 160 days)	OPTION 1: UNIT PRICE	OPTION 1: EXTENDED PRICE	OPTION 2: UNIT PRICE	OPTION 2: EXTENDED PRICE
1	1 Each, 80 LB Washer	\$13,300.00	\$13,300.00		
2	2 Each, 80 LB Washer	\$13,300.00	\$26,600.00		
3	3 Each, 80 LB Washer	\$13,300.00	\$39,900.00		
4	4 Each, 80 LB Washer	\$13,300.00	\$53,200.00	\$12,250.00	\$49,000.00
5	1 Each, Gas Dryer	\$8,800.00	\$8,800.00		
6	2 Each, Gas Dryer	\$8,800.00	\$17,600.00		
7	3 Each, Gas Dryer	\$8,800.00	\$26,400.00		
8	4 Each, Gas Dryer	\$8,800.00	\$35,200.00		
9	5 Each, Gas Dryer	\$8,800.00	\$44,000.00	\$7,400.00	\$37,000.00
TOTAL BID PRICE FOR AWARD PURPOSES		أكاله المائلي		\$86,000.00	
Alliance Laundry Systems #ICN080HNV		Alliance Laundry Systems #IT120			

	Inc	Justrial Laundry	Services, Orlando	, FL	
LINE#	DESCRIPTION (furnish & install within 160 days)	OPTION 1: UNIT PRICE	OPTION 1: EXTENDED PRICE	OPTION 2: UNIT PRICE	OPTION 2: EXTENDED PRICE
1	1 Each, 80 LB Washer	\$12,869.00	\$12,869.00		
2	2 Each, 80 LB Washer	\$12,669.00	\$25,338.00		
3	3 Each, 80 LB Washer	\$12,469.00	\$37,407.00		
4	4 Each, 80 LB Washer	\$12,269.00	\$49,076.00	\$12,269.00	\$49,076.00
5	1 Each, Gas Dryer	\$8,978.00	\$8,978.00	3	
6	2 Each, Gas Dryer	\$8,778.00	\$17,556.00		
7	3 Each, Gas Dryer	\$8,578.00	\$25,734.00		
8	4 Each, Gas Dryer	\$8,378.00	\$33,512.00		
9	5 Each, Gas Dryer	\$8,178.00	\$40.890.00	\$8,178.00	\$40,8900.00
TOTAL BID PRICE FOR AWARD PURPOSES		Contract of the		\$89,966.00	
B&C Technologies #HE-80 / 85 LB			B&C	Technologies #D	E-120

LINE#	DESCRIPTION (furnish & instali within 160 days)	OPTION 1: UNIT PRICE	OPTION 1: EXTENDED PRICE	OPTION 2: UNIT PRICE	OPTION 2: EXTENDED PRICE
1	1 Each, 80 LB Washer	\$13,950.00	\$13,950.00		
2	2 Each, 80 LB Washer	\$13,950.00	\$27,900.00		
3	3 Each, 80 LB Washer	\$13,950.00	\$41,850.00		
4	4 Each, 80 LB Washer	\$13,950.00	\$55,800.00	\$13,950.00	\$55,800.00
5	1 Each, Gas Dryer	\$8,450.00	\$8,450.00		
6	2 Each, Gas Dryer	\$8,450.00	\$16,900.00		
7	3 Each, Gas Dryer	\$8,450.00	\$25,350.00		
8	4 Each, Gas Dryer	\$8,450.00	\$33,800.00		
9	5 Each, Gas Dryer	\$8,450.00	\$42,250.00	\$8,450.00	\$42,250.00
TOTAL BID PRICE FOR AWARD PURPOSES				\$98,050.00	
Unimac #UCN080HNVNU		U	nimac #120NREC	21	

à

ø

UNE#	DESCRIPTION (furnish & install within 160 days)	OPTION 1: UNIT PRICE	OPTION 1: EXTENDED PRICE	OPTION 2: UNIT PRICE	OPTION 2: EXTEMDED PRICE
1	1 Each, 80 LB Washer	\$13,675.00	\$13,675.00		NIP COLUMN
2	2 Each, 80 LB Washer	\$13,675.00	\$27,350.00		
3	3 Each, 80 LB Washer	\$13,675.00	\$41,025.00		
4	4 Each, 80 LB Washer	\$13,675.00	\$54,700.00	\$13,675.00	\$54,700.00
5	1 Each, Gas Dryer	\$8,950.00	\$8,950.00		V
6	2 Each, Gas Dryer	\$8,950.00	\$17,900.00		
7	3 Each, Gas Dryer	\$8,950.00	\$26,850.00		
8	4 Each, Gas Dryer	\$8,950.00	\$35,800.00		
9	5 Each, Gas Dryer	\$8,950.00	\$44,750.00	\$8,950.00	\$44,750.00
TOTAL BID PRICE FOR AWARD PURPOSES		ENGAY E		\$99,540.00	
IPSO Alliance Laundry Systems #ICN080HNF			IPSO Alliance	Laundry System	

\*

15